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Turn this in before leaving class. 

1.  A certain causal LTI system has unit-pulse response h[n] and input x[n]. Write two equivalent convolution expressions for the output y[n]. Assume x[n] = 0 for n < 0.








2. A certain causal LTI system has impulse response h(t) and input x(t). Write two equivalent convolution expressions for the output y(t). Assume x(t) = 0 for t < 0.







3. A certain LTI system has the unit-pulse response and input given in the table below. Determine the output y[n] and fill in the table. Is this system causal? Why or why not?

	n
	< 0
	0
	1
	2
	3
	4
	5
	6
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	h[n]
	0
	1
	2
	1
	2
	0
	0
	0
	0

	x[n]
	0
	1
	1
	1
	1
	0
	0
	0
	0

	y[n]
	
	
	
	
	
	
	
	
	




